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SH-HH . BAIH) - ABAMY - BES 0 aF p[EsL HRE2

01 At 22l 31,885 35,428 A 3,543
ONSTY SZ&+2 (0=

23 8,457,000 8,457 12,000 N 3,543

A 2A (S H D) (IIEH/IIEL) 149,688 161,702 A12,014

Jl= &l 109,324 121,338 A12,014

Jl=dl 109,324 121,338 A12,014

201 Let24dy] 22,372 24,858 A2,486

01 At 22/l 22,372 24,858 A2,486

O=AEX 2L (ZRNE 2S2) (02

Z & 2,474,000& 2,474 3,960 A 1,486

OLFRE =EHI(ZHNE EFF) 5,690 6,690 21,000
—DRIH EL(SH)(HAB)

23 2,000,000 2,000 3,000 21,000

202 O4dl 81,972 91,080 29,108

01 = LH 4 Hi 81,972 91,080 A 9,108

O A HEBN(ZRNEH EFZ) 81,972 91,080 29,108

— 2ol (o AHE 2H) 2 & 18,612,000 18,612 27,720 29,108

203 B R =&l 3,780 4,200 A 420

04 RENSELR=LH| 3,780 4,200 2420
SLVE-EEES TICPE-ED

23 3,780,000 3,780 4,200 A 420




